Solve this matrix equation for matrix X.
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Solve this matrix equation for matrix X.
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A-X=B
Does X=A1.B or X=BA"1 ?
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To solve this for X you could adt

Solve this matrix equation for matrix X.
X to both sides to get: A =B+X

Then you could subtract B from D 3 X — 7
both sides to getA-B = X 4 2 6
A-X=B
Does X=A'1.B or
22 - 2xl

You can't multiply these two matrices
because the middle numbers don't match.

=[5

Regardless of dimensions, to solve the following matrix

equation:
T AX =8B
You will always find matrix X by doing the following:

X=A'.B
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When this matrix is placed back
into the original equation it does
make the equation true.
Therefore, it is a solution.

When this matrix is placed
back into the original equation
it makes the equation true.
Therefore, it is not a solution.



Solve this matrix equation for matrix X.
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Solve this matrix equation for matrix X.
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Solve this equation by:

Solve this matrix equation for matrix X.
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Solve this equation by:
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Solve this matrix equation for matrix X.
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T Solve this equation by:
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What if you don't have a graphing calculator to use?
Do it by hand!
or

Go to my blog!

Solve this system of equations.
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You can now finish Hwk # 23

Practice Sheet:

Solving Matrix Equations.



